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عرض حال للفرض الأول

حل التمرين الأول
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حل التمرين الثالث

(√𝑎 + √b)
2

= a + b + 2√a. b 

= √5 + 2√1 = √5 + 1

(√𝑎 + √b)
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= √5 + 1

√𝑎 + √b = √√5 + 1

بنفس الطريقة نجد : 

√𝑎 − √b = √√5 − 1
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𝑛هي :   𝑛اصغر قيمة لــــ    = 𝑛اي   7. 5 = 35

04ينحل تمر

𝐴التحليل الى جداء عوامل أولية :      /1 = 6300 = 22. 32. 52. 7

𝐵 = 2700 = 22. 33. 52

2/    𝑃𝐺𝐶𝐷(𝐴; 𝐵) = 22. 32. 52 = 900

𝑃𝐺𝐶𝐷(𝐴; 𝐵) = 52. 22. 33. 7 = 18900

اختزال الكسر :   /3
𝐴

B
=

52.22.32.7

5
3

.22.32 =
7
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4/ :

√𝐴. 𝐵. 𝑛 = √22. 32. 52. 7. 22. 33. 52. n

= √24. 35. 54. 7. n 
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= 2252√35. 7. n

𝑛هي :   𝑛اصغر قيمة لــــ    = 𝑛اي   7. 3 = 21

الحصر :  /5

√𝐴 = √2
2
. 3

2
. 5

2
. 7 = 2.3.5. √7 = 30√7

√𝐵 = √2
2
. 3

3
. 5

2
= 2.5. √3 = 25√3

√𝐴 + √𝐵 = 30√7 + 25√3

√𝐴. 𝐵 = 750√7. √3

2,6:   لدينا < √7 < 1,7و    2,7 < √3 < 1,8

(1,7). (2,6). 750 < √𝐴. 𝐵 < (1,8). (2,7). 750

3315 < √𝐴. 𝐵 < 3645

(30). (2,6) + (25). (1,7) < √𝐴 + √𝐵 < (30). (2,7) + (25). (1,8)

120,5 < √𝐴 + √𝐵 < 126




